- VT

T E PR e B 2

# £ 47
1 cxw®Lds|3-5: 7 ... »99°
fw21mE

2. < X A B 456580 ... »100-
f1008%  Fe

3. L wEALAHNN4-812... 29 -
Fig B & L Herenir g 3 2 fodl

o

4, ¢ irE Z B 65100 145 ... 5406
F% 31 7 & °

5. car¥ A #2:95160 ... 51420
f1428% e

Rz % L | it 582 fo °
BT BB 2B Ry Hhit: AT IEEGE 802 3% G/F-2/F B&A: 3556 3900

EIEEREREHEBEE YR EEE . BIE: wwwxeseducation.com.hk/resources



http://www.xeseducation.com.hk/resources

- VT

[#%1)43-
[i247] p A+ (BB -Dx2> L
3+(21-1)x2
=3+20x2
=3+40
=43

[¥%2]149-
[i347] (RA-FA)+2> L +1
(100-4)+2+1
=96+2+1
=48+1
=49

[ %% 3] 1200
[i347] (ZA-F A+ Z+1
(96—4)+4+1
=02+4+1
=23+1
=24

(FIE+AIE )X #e+2
(4+96)x24+2

=100%x24+2

=2400+2

=1200

] 126
BIE+(EHE-Dx2 4

=
Y
—
N
D N

BmEHE L it K7 BFGE 802 5% G/F-2/F T2E: 3556 3900
EIEEREREHEBEE YR EEE . BIE: wwwxeseducation.com.hk/resources



http://www.xeseducation.com.hk/resources

6+(31-1) x4
=6+30x4
=6+120
=126

[%%5]21
[1237]) (koF—F )+ 2 £+1

(142-2)+7+1
=140+7+1
=20+1
=21

[ %% 6] 1200
[i347] (ZA-F A+ Z+1

s

(F I8+ )x I e+ 2

(117-3)+6+1 (3+117)x20+2
=114+6+1 =120x20=2
=19+1 =120x10
=20 =1200
EmEHE L Mk KFIEHEOE 802 98 G/F-2/F EEE: 3556 3900

EEHBRHEERBEEY F RARE,

BIZE: www.xeseducation.com.hk/resources



http://www.xeseducation.com.hk/resources

